SM6EE 1ATEFER (REERKA) PNE AL AL A A
Bl 7 T W & |F1]2[3]4]|5] 6 kEe AF [8Ew AEhE
stH
1 7K X F >
F£X - FIROIAR @
2 | K X g
E£X - FHADIARE
3 | & X
4 | £ X
518 X
FmEiRER
6 | A O
BEX. 2RER T[ZFE( XK1 [ k2] k3] k4] X5
T | K|—FEES 2|2E| k1 (k2| k3| k4a[k5| ZER| 6 @)
J|FFE k1 [k2[k3[k4| X5
1|1K1[/K2[K3|[K4|K5
8 | K 2(K1[k2[Kk3[Kk4a[K5 5[R X
3[K1[k2|K3|Ka|K5
1-28FATX b+ [EAE AN A &
9 | K|3EHIEFE—TR b AEIE K- AN RE - TFAR| %
HAEEEEEEEIE AR LS 6 R
EX T 1|B1|/B2|B3/A4|/A5/A6
10 | € |8 . XOZEHENME (145) 21A1|A2|A3|A4|BA5 A6 |4iE#R| 6 O
3|81 /BA2/A3/A4 A5 |%¥&
1M |x (@]
NEXE PN
12 |8 X
BRADH
13 [ A O
2SR 6R) [HEFEE. E#) Tk 1[k2[k3[k4][K5]X6 e
14 | X 21K K2 K3 K4 | K5 |FFE 6 R O RIS
3k k2 k3] k4| k5[k6 e G e Il
BiZ - BERAv b 1k 1]k2[Kk3]Kk4a[K5E SESEN \
15 | K 2(k1]k2 k3 /k4a[K5 5 R x PR t_/
3[K[k2]k3[K4[K5 1
ER—FEFTAH HESIERAERIERAEHESS N\
16 | K |2 MELAMAIEHE (60R) ZHMAN -2 [ 2[K1[K2| K3 |[K4[K5|HRE 6 R X
3|K1|K2|K3|K4|K5 | #KE
1 EKERRER B ERET ) GO BE | 1|£1]|22|23|24|25 &8
17 | & | 3 &EVYYI-Yavak -YikER (134FR) 2|£1|£2[£3[£4|£5 8BS 6 R o
EIEHEERTE 3[£1]&£2[£3[£4|£5[8E
18 | £ O R
o
198 x >
1|B1/B2|A3/A4|A5 A6
2 | B 2|B1]/A2[A3[A4|A5|A6 6 R O
3|81 /B2|A38 A4 A5 |¥&
TEBRRIR OB (MuL®. RuTE] |1[Xk1|Kk2[k3[KA|Kk5[k6
21 | K 2[ k1 k2| kB|k4|k5|ZFE 6 R @)
3|k 1| k2| k3 [ka|k5[k6
1{K1]/K2][/K3|/K4|K5
22 |k 2(k1]k2[k3[Kk4|Kk5 58 x =IO
3[K1[k2|k3[ka[k5 i
ER—FREETI b IESIERR ERFIERAEEZS ==
23 | K2 msssiig 6R) [£RE. ®RME] |2[K1|K2|A3 | A4 |[A5 BE 68 x ==
J[KR1|K2[AK3|K4[K5 | #KE
1[&£1][£2](£3[£4[£5[kE
24 | & 211 |£2|£3 |24 €5 |#KE 6 R (@]
3[£1]£2|£3 £4|£5KE
25 | £ O
26 | H X
1|A1|/B2|A3/A4|/A5/A6
21 | R 2|A1|A2|A3|/A4[A5|As6 6 R (e}
3|1B1/A2|A3 A4 A5 |%¥&
£RES PSP I AP P TS
28 |k 2| K1 KBk 4[ k5 [FE|eune 6 R O
PSP EIPTIP - IPYG
1{K1]|/Kk2]|/K3|K4|K5
29 |k 2|Kk1[k2[k3[/k4|[K5 5[R X
3|K1|k2|[/kK3|/K4[K5
XIFEFIIARBD=H, HBETK [1[K1| K2 K3 |K4|[K5|FF
30 | K 2[RK1[XK2[K3|K4[K5[8E 6B X
HMESIEFAREEC 3% 4R
A, ZEKX (9:30) F=E T
31 | £ |15 THEANZERE] 4R) 2|30 4R | 458 | 4550 | 455 5[R O
_ 3 FAILAE
2-3Am |2/6(K) - T(R)MEKT R b [3FH£] 2/120K) SEE BB AR
FRFE] 2/120K) - 13(KR)EARTR + [1 - 25 4] 3/110K) - 120K) AL ERAR 3/14 (&) =K (BI=9:30) 3/24(B)ETH - BiER

KA DERIL,

KPEEFREICHDEAHYET, JTERIFEZEL,

18:30F TICHRELNLET . 18:0UREBFEEEICUVEDLYET,

AlkEHFER 285—0262



